Al of o

A AR B

N & 0

LU H L IIELS SR, SIS SEH &H

Al A

20169 & =0l &t

AN A4S0
Hu: ALHY EX
el AL B SRS CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A& NSt 20,914,674 21,000,957 A 86,283
= 55,000
< 551,254
s 20,308,420
HAEHH FH 39,813 59,279 A 19,466
< 4,825
[ia 34,988
HEHFHARF 39,813 59,279 A 19,466
< 4,825
[ia 34,988
BEBHHEHR 1,200 21,000 219,800
201 et 1,200 1,200 0
01 At 22l 1,200 1,200 0
OBHGEE OISASEI| LAME22
900,000& * 14 900
ONFULESE S+ 50,0002 * 60K 300
e LR 9,235 7,164 2,071
201 Let24d] 9,235 7,164 2,071
01 At 22l 9,235 7,164 2,071
ORTRMA =52 L SI+42 9,235
=& 300,000& = 202 X 6,000
-S| 64,700& = 502 X 3,235
ANge =729 2el 4,825 4,825 0
< 4,825
201 ¢er24| 4,825 4,825 0
< 4,825
01 At 22l 4,825 4,825 0
OZ&EFRY et EXE & HF4I
4,825,000 4,825
< 4,825
EXNBLHF 13,000 15,450 A2,450
202 04l 9,400 9,400 0
01 = LH 4 di 9,400 9,400 0
OHLdE PRF=A Kl 9,400,000 9,400
203 YR =&t 3,600 4,800 A1,200
03 A F=XH R =AY 3,600 4,800 A1,200
OALnNSHR FA&SH| 3,600,000 3,600
SZEANEZE g2 = 2,000 2,000 0
202 044l 2,000 2,000 0
01 SLHOIYI 2,000 2,000 0
OSEAYIZHE =& 2,000,000& 2,000
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t

)

EXN: &8s
HH: AL =T
ool AMBHARET c
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
CZzE=sE2 9,553 8,840 713
101 Q124 H| 9,553 8,840 713
04 JI2ZtHIZ22 NEES 9,553 8,840 713
OEZHEE6I g2EX o182 9,553
-= 48,2403 * 19 = 180 8,684
- 4AEE DAL 2 8,684,000 * 10% 869
NI AR R PN 9,748,758 11,027,627 N1,278,869
= 55,000
= 9,693,758
DS T IAS 2,003,830 3,301,830 A 1,298,000
243|232 ZESEITHAS 400,000 700,000 A 300,000
401 AlEHIZL 201 Y| 400,000 700,000 A 300,000
01 Al&H| 397,120 695,590 A 298,470
O23-23 (2% 1158)2F 2= I E =0.4km
397,120,000 397,120
03 Al 201 Y| 2,880 4,410 A 1,530
O3 -23 (2% 118)2 2= x T
400,000,000& * 0.72% 2,880
0 EEXNBAZ3 103,830 53,830 50,000
202 044l 3,830 3,830 0
01 2L I 3,830 3,830 0
Oz =X 3,830,000& 3,830
401 AlEHIZL 2 0HY| 100,000 50,000 50,000
01 Al&H| 100,000 50,000 50,000
Oz2% DI=8XN EXNEH 100,000, 000 100,000
HAE-NF2 2SI EAY 350,000 800,000 A 450,000
401 AlEHIZL 2 0HY| 350,000 800,000 A 450,000
01 Al& H| 347,480 794,960 N447 480
OHE-HE (2% 63)2F Z=EIZE [=0.8Kkm
347,480,000 347,480
03 AlE 20| 2,520 5,040 A2,520
ONMAE-HMEB (2L 65)2t 2 &L
350,000,000 = 0.72% 2,520
MNE-Z2A2F ZESTEHAS 500,000 700,000 A 200,000
401 AlEHIZL 2 0HY| 500,000 700,000 A 200,000
01 Al&H| 496,400 700,000 A 203,600
OAE-2AH(Z2E 185)2F 2 =S Z X [=0.8km
496,400,000 496,400
03 AlE 20| 3,600 0 3,600
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AL S
PR= e bR
PCHIFAY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMB-Z4H(2ZE 188)2t 2 & &
500,000,000& * 0.72% 3,600
Y-St =22 MY 300,000 0 300,000
401 Al HI K 201 300,000 0 300,000
01 A& tI 297,840 0 297,840
OLM-ZS (2= 73)2 P& EH [=0.6km
297,840,000 297,840
03 Al 2 THHI 2,160 0 2,160
OZM-52S (2 78)2 28X H
300,000,000& * 0.72% 2,160
H=3-U32t 2SS EZEAMY 350,000 0 350,000
401 AIEHIZL 20 350,000 0 350,000
01 A& Hl 347,480 0 347,480
OU=-=2(=2% 1838)2 2 S=HZE 1=0.5km
347,480,000 347,480
03 A& 2 0H bl 2,520 0 2,520
ou=s-U=za(z2x 1838)2 2S&8xLH
350,000,000& * 0.72% 2,520
sHEE=SLE 3,200,000 2,803,000 397,000
Fa-FTSU sHEZZEZTAY 500,000 450,000 50,000
401 AIEHI L 20 500,000 450,000 50,000
01 A& HI 496,400 446,760 49,640
OF=-F2(s% 3043)24 sHEZZERH L
=0.5km 496,400,000 496,400
03 A& =2 THHI 3,600 3,240 360
OFS-FS(sk 3043)2 sHEZ=SHZE
500,000,000& * 0.72% 3,600
sHEEZ=201=2EX 24 20,000 70,000 250,000
401 Al HIZ 2018 20,000 70,000 A 50,000
01 A& HI 20,000 70,000 A 50,000
OsHEE=Z DI=28X EXNE4 20,000,000 20,000
CHE-CE2 sHEZZ SEAMY 200,000 0 200,000
401 AIEHI L 20 200,000 0 200,000
01 A& HI 198,560 0 198,560
OHE-tH(2l: 2073)2 sHESZEEE L
=0.4km 198,560, 000& 198,560
03 Al S THHI 1,440 0 1,440
OSE-HHE (2T 2075)2 SHEC2STH
200,000,000& * 0.72% 1,440
2z-222 SHEEZZEZFTAY 300,000 0 300,000
401 AIEHI L 2CHYI 300,000 0 300,000
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EX: A4 ns
M NYCALHTR
©el: SoECRHnY CERED
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al&H| 297,840 0 297,840
02-22(sk 3028)2 sHEZ2S A |
=0.3km 297,840,000 297,840
03 AlE 201 Y| 2,160 0 2,160
02-22(=s& 3023)2t sHET2St L E
300,000,000 % 0.72% 2,160
MNAE-XNB2 sSHEZZEEZHAY 500,000 0 500,000
1AL H Y20 500,000 0 500,000
01 A& H| 496,400 0 496,400
ONY-TE(HE 10158)2 sSOHEZ2EETH L
=0.5km 496,400,000& 496,400
03 Al&E 201 Y| 3,600 0 3,600
OAS-IEH(HE 1018)2t sSOHECZ2SETE
500,000,000& * 0.72% 3,600
ME-AMIELG SHEZZEEFHAY 300,000 0 300,000
401 A& HI L 204 HI 300,000 0 300,000
Al & H| 297,840 0 297,840
OlNFE-AH(BIE 2108)2 sSHEZ2ETH L
=0.5km 297,840,000 297,840
03 Al 201 Y| 2,160 0 2,160
OMHE-AHA(BIE 2108)2 sSHEZZ2SZE
300,000,000 * 0.72% 2,160
QU-2P222t SHESZE LAY 500,000 0 500,000
401 Al HI L E0HHI 500,000 0 500,000
01 A& H| 496,400 0 496,400
Oi-2=2(elk 2183)2 sHEZZ2S T H L
=0.5km 496,400,000 496,400
03 Al 204 Y| 3,600 0 3,600
OLA-2F(2|& 2185 )2t SHEEZSHEX
500,000,000& * 0.72% 3,600
ZH-ZHY SHEZTZEEZHANY 200,000 0 200,000
401 Al HI L £ 0HHI 200,000 0 200,000
01 Al& B 198,560 0 198,560
Ox=&d-z& (2l 2083)2 sHEZ2EZH L
=0.4km 198,560,000 198,560
03 A& E20HH| 1,440 0 1,440
Oxd-ZH (2l 2038 )2t sSH=EEZ2SHEX
200,000,000 * 0.72% 1,440
FAHA-PAHZY sHEZZESEZHANY 300,000 0 300,000
401 AlEHIZL £ 0HY| 300,000 0 300,000
01 Al&EH| 297,840 0 297,840
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AN A4S0
B YCALSTE
Eel: sHES=SEE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFA-TAH(RIE 2185)2 sHEEZEEE L
=0.5km 297,840,000 297,840
03 Al 2 THHI 2,160 0 2,160
OFA-PAH(2lE 2188)2t sHEZZSHELE
300,000,000& * 0.72% 2,160
OHAH-DHAM 2t SOHEEZ LI ALY 300,000 0 300,000
401 Al HI K 201 I 300,000 0 300,000
01 A& HI 297,840 0 297,840
OODt&-0rAH(2IE 2045)2 sHEEZ2EELE L
=0.6km 297,840,000 297,840
03 Al 2 0HHI 2,160 0 2,160
OOHAH-0FAH(2IE 2045)2t SHECZ2SEE
300,000,000& * 0.72% 2,160
S8 SHEEZZEZZAY 60,000 0 60,000
401 AIEHI L 2 CHEI 60,000 0 60,000
01 A& Bl 60,000 0 60,000
SS-=23(2lE3053)2 sHEZZSHEE (=
3.0km 60,000,000& 60,000
24-24(21£2018)2 sSHEZZEZEAY 20,000 0 20,000
401 AIEHI L 20 20,000 0 20,000
01 A& HI 20,000 0 20,000
Oz=4d-24(2lE2018)2 sHEZ2EZE L=
0.4km(== 21 & 04 0l &F) 20,000,000& 20,000
SEE2RIAESAMY 2,544,928 2,922,797 A 377,869
= 55,000
i 2,489,928
Mol =224 419,630 345,460 74,170
201 L2l 65,690 55,020 10,670
01 At 22l 21,010 18,350 2,660
OE224+8 AT 294, 3L, S)
40,000& * 5& = 128 2,400
OMAEXME2E DX X 4,000,000 4,000
=of ¥ Holithz E22R A 24l
4,000,000 4,000
ONM&zy 8= 140,000 * 9 1,260
OS&)| Hdoithd €2i I=H(SEHEE)
350,000& = 259 8,750
OE224+8 B4 44 2
50,000& = 12& 600
02 3322l 44,680 36,670 8,010
OL2E+3 Uil € MEXt] &8I)Ie3
340,000& = 12& 4,080
ON&ERD &=+ER3 100,000& * 123 1,200
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AN HAEnsSH
B YCALSTE
el SREX B LAY (el:de)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Ozl WFIl wAXbl 9,060
-0l =2 22l 200,000& = 1504 3,000
-0FO ARE(CFO Y) 4,200 « 3004 1,260
-0FI 85 1,600& = 15CH = 2004 4,800
OMAAE) S 16,740
- 18 HMEAXZI SN
1,600& = 9UH * 304 =* 203 8,640
- 158 N&EZL)| |F
1,500& = QUi * 304 =* 203 8,100
O1EEY SXlb| 13,600
-=2| d| 2,000,000& * 2CH 4,000
-250 1,600& * 2504 =+ 128 = 204 9,600
206 M = Hl 128,500 148,500 A 20,000
01 M= bl 128,500 148,500 A 20,000
AU EE 27 27,000,000& 27,000
Ol 2FHUZEH & SX0M 2
200& = 10,000& 2,000
ootAz LTS 2 12,0008 * 1,000% 12,000
OHM&EH 2+ HUE P2 1,500,000& 1,500
OMEM 2 86,000
-g3Us 250,000& * 200= 50,000
-3 180,000& * 200E& 36,000
307 212t01 & 1,440 1,440 0
05 DIZHoIEr 2 1,440 1,440 0
OMEEHI XD RoABHIAIAE
120,000& * 12& 1,440
401 Al HI YL 2 0HHI 141,000 90,000 51,000
01 A& HI 33,000 30,000 3,000
OMAED,AZI| ME=&H| 30,000,000& 30,000
OEzE 43 ol 20|13 & Al 3,000,000 3,000
03 AlE 201l 108,000 60,000 48,000
OHM&E & Mol HHl LX=(15E)
600,000& = 108 * 9CH 54,000
OME & THol &dl = (2401)
600,000& = 108 * 9OH 54,000
405 X+HoHF SHI 83,000 50,500 32,500
01 At = S F SHI 83,000 50,500 32,500
(@)=l Egel 500,000& * 3CH 1,500
OE"HZEFA H4AIFAL 13,000,000& = 1CH 13,000
OEgHEXEZ MEJIRY(HSH)
4,000,000& * 9CH 36,000
O1E EEE MaEBE=322 2,500,000& * 204 5,000
OEgE M&E&FH 7 27,500,000& 27,500
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FAM: A4S
M NYCALHTR
Sl CR|XZLAL (el @2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= E ALY 818,410 1,549,108 A 730,698
401 Al I 2 O8I 818,410 1,549,108 A 730,698
01 A& Bl 800,000 1,530,000 A 730,000
o= RAES 300,000, 000& 300,000
OBt 20tetE 23 Hl 60,000,000 60,000
OZ& RMEAZM(11I4=H,L=25km)
150,000, 000& 150,000
OF& SZEXT ZUI(27H =&, 1000 4A)
50,000,000& 50,000
O2&62! 423 bl (L=500m) 70,000,000& 70,000
O&sel 2% OtA2X N =2I](L=1.0km)
70,000,000& 70,000
OFdetMII2HE+EHEY 100,000, 000& 100,000
03 Al 20 HI 18,410 19,108 A 698
Oz2&E®AES EHYXNHZE  700,000& * 203 14,000
OZ & EHIAY 700,000,000& * 0.63% 4,410
SHEZZ FHAS 1,093,888 845,229 248,659
401 Al BIZ 2018 1,093,888 845,229 248,659
01 A& HI 1,080,000 830,000 250,000
OsHEEz RANES 300,000,000 300,000
OsHEE2 MEEZM (110 =&, L=25km)
100,000, 000& 100,000
O&3H el Bii#=2 38l (L=380m) 80,000,000& 80,000
Ol HUYBEXBAH(L=11m)
100,000, 000& 100,000
Osdtg el AFHE 2 (L=100m) 500,000, 000& 500,000
03 Al =20 HI 13,888 15,229 21,341
OsHEEZRAE+=ZH Xz
10,000, 000& 10,000
OsHEZZHHIALY
1,080,000,000& =* 0.36% 3,888
MRS a3 3,000 3,000 0
305 et =2 S 3,000 3,000 0
01 HH&a=S 3,000 3,000 0
Otla=s 500,000& * 62 3,000
HelolEs9IH 110,000 80,000 30,000
= 55,000
fia 55,000
401 Al & Bl & 28I 110,000 80,000 30,000
= 55,000
[ia 55,000
01 A& HI 110,000 80,000 30,000
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AN A4S0
M NYCALHTR
2 E2RIEAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O£l RIE HBloEs2E HHAE
110,000, 000& 110,000
= 55,000
s 55,000
0eol2s2Y RAE+ 100,000 100,000 0
401 Al HI K 201 I 100,000 100,000 0
01 A& HI 100,000 100,000 0
ooaol2sx9 AES 100,000, 000& 100,000
DEEZ2 24 &4 2,000,000 2,000,000 0
SEFAHLA SHOlIHANMELIES EXAY 2,000,000 2,000,000 0
403 UHXSHHS =0l 2,000,000 2,000,000 0
02 I 2S0ICHet A =& OHE At H 2,000,000 2,000,000 0
OSEFHA SHOIHAMEUSSAEIAY (L=1
7km) 2,000,000, 000& 2,000,000
sy N 11,091,724 9,873,504 1,218,220
< 546,429
s 10,545,295
wsEASH 9,537,046 8,429,836 1,107,210
< 546,429
s 8,990,617
3 WSAHMIZ2HE HF12A 20,000 0 20,000
207 A RO 20,000 0 20,000
01 g8 20,000 0 20,000
OHM3X WESHEI2HE ARSY
20,000,000& 20,000
WS S ALY 6,850 6,850 0
307 21201 A 6,850 6,850 0
02 YAFAAHEE 6,850 6,850 0
OusStEXNE ALY X& 6,850,000 6,850
WSATAL222E 341,930 298,832 43,098
201 Let249] 32,820 31,832 988
01 At 22/l 30,820 27,216 3,604
Onss:=2s(deX ) MEd 10,000,000& 10,000
ONEMES YHHY 242
105, 1502 * 198H 20,820
02 =224l 2,000 4,616 N2,616
O0ellnsusaAE RAZ 4|
2,000,000& 2,000
401 A& HIZ 201 I 309,110 267,000 42,110
01 A& HI 306,900 267,000 39,900
OAMSIIAE AXALY  40,000,000& * 100 40,000

- 288 -




HEWNEH
nsHEY MM
DEUAST EERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OZES &MY 12,000,000& * 200 £ 24,000
OMmoaIz2as &X 2,000,000& * 50 £ 10,000
OxXdAHES & RMSHE Ex & EXAE
30,000& = 600 18,000
OSHZ 28 UAIZ SXAY
500,000& 400 & 20,000
OSE= ¢ WSHHANE FNEFAY
120,000, 000& 120,000
OXNSHOI WAL 5,700,000& * 702 39,900
OCEHEE S5 &XAMY
1,500,000& * 204 30,000
Os&EdAs2d 58 &
500,000& » 1004 2 5,000
03 Al =TI 2,210 0 2,210
OuUSHEAEESEX R0
306,900,000& * 0.72% 2,210
AS SIS XA 2te 6,235,000 5,460,837 774,163
307 glz2+0ol & 6,235,000 5,460,837 774,163
09 2+HAHEXS 6,235,000 5,460,837 774,163
O2=8Hd RHEX= 6,235,000
—0f 4 (HHA L EHAl) 670,000,000& 670,000
SIS (EY,Hg, 28t 5,565,000, 000& 5,565,000
HALd EAME A32A 20,000 20,000 0
207 A RO H| 20,000 20,000 0
01 89 20,000 20,000 0
OSZEHA YAR 24 L HILH 28N
d A7 EY 20,000,000& 20,000
Sl &A84 1,378,757 1,378,757 0
< 67,352
s 1,311,405
307 glz2tol & 1,378,757 1,378,757 0
= 67,352
i 1,311,405
09 2+HAHEEXS 1,378,757 1,378,757 0
OHI-d £42Y 1,378,757,000& 1,378,757
< 67,352
= 1,311,405
ANUH(SHE)HA 2SAMYE MEX A 762,072 414,712 347,360
< 381,036
= 381,036
307 21201 A 762,072 414,712 347,360
< 381,036
[ia 381,036
09 2+=HAHBXS 762,072 414,712 347,360
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AN A4S0
M DsHE A
Sol: DEHASA CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OsHEHA 2SAE HEXE
762,072,000 762,072
= 381,036
s 381,036
SHEHA HYeRs £48Y 362,000 410,000 A 48,000
307 gl2tol & 362,000 410,000 A 48,000
09 2HAHAEXS 362,000 410,000 A 48,000
Os&EHA s 424 362,000,000 362,000
SEgussH 29 47,686 44,350 3,336
307 glz2+ol & 47,686 44,350 3,336
05 RIZIRI & 3 47,686 44,350 3,336
OSgus=+=¢ 29X 47,686
i ral:] 44,686,000 44,686
-XHEKRXH S 3,000,000& 3,000
BAlSZE AXAY 10,000 30,000 220,000
401 Al HIZ 201 8] 10,000 30,000 A20,000
01 A& HI 10,000 30,000 220,000
OAls2d &1 10,000,000 * 1JH 2 10,000
BIAl HEZH =3 XE A 6,805 3,637 3,168
= 2,041
= 4,764
307 21201 A 6,805 3,637 3,168
< 2,041
[ia 4,764
09 2HAHAEXS 6,805 3,637 3,168
OEAIHIEZN =2 AJAAY 6,805,000 6,805
= 2,041
e 4,764
EAIG DS E X EXAS 24,000 0 24,000
< 8,000
s 16,000
307 glz2tol & 24,000 0 24,000
< 8,000
s 16,000
09 2HAHAEXS 24,000 0 24,000
O BAl SAIJISEX EXIXF 24,000,000 24,000
< 8,000
[ia 16,000
SIYEA 29 220,000 0 220,000
< 88,000
e 132,000
307 21201 A 220,000 0 220,000
< 88,000
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AN A4S0
M DsHE A
Sl DSHASH CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 132,000
02 It M AMHEE 220,000 0 220,000
OS|YEA 2SS XA 220,000,000 220,000
< 88,000
[ia 132,000
FEXHS 73,388 81,403 A8,015
201 Let2d] 63,268 71,283 A8,015
01 At 22l 10,830 10,205 625
OFZEXYR =l 5,400
- T8I fIE BHE SXAAH & |2
300& = 10,00000 = 90% 2,700
-=E AR £ g2 M
300& = 10,00000 = 90% 2,700
OYXIXE AelH] 70,000& = 10CH = 90% 630
OSYEBXHS EL8 MOX L 29
= 50,000& * 2& = 2001 = 90% 1,800
OSYF=EX JM&AHE 08 ==&
80& = 10,000 800
OFENC=E T=H (LMET)
200,000& = 69H 1,200
OYM=Ies 22X Sl 1,000,000 1,000
02 =224l 52,438 61,078 A 8,640
OCCTV 2IHY 23 ¥ &MIIR3
120,000& » 128 » 300H 43,200
OCCTV & X &=t 500,000& =« 15CH 7,500
ON&AHE =HAIAE 2R 24|
130,000& * 12& 1,560
ORHEXNANSA HIUHE B&E==2
3,550& * 50CH 178
202 o4dl 10,120 10,120 0
01 = LH o4 1l 10,120 10,120 0
Ousdd RFA Ol 9,120,000 9,120
TONR BE 95 92 oyl
1,000,000 1,000
HHsE2C2Y 28,558 40,658 A 12,100
201 Let2d] 14,318 15,458 21,140
01 At 22l 13,718 14,918 A1,200
ONsSIAEE MA M
4,000& *= 88 1002 * 90% 2,880
OHEIIAHEE & SAE AA HMH
4,000& *= 88 1002 * 90% 2,880
OXNsSA WEHE XM M=
77,0003 * 10t A « 68 * 90% 4,158
OXsx &2 2= MZE  100,000& * 105 1,000
OXYgsSEL Letx=EZH| 1,200
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5 - 4
H-H2 - B9 (3H) - HEAY - BA=S Ol At o %@ﬁ HRE2
-=2AM(84) 800,000& 800
- 22(29) 400,0002! 400
Oo22s MIIHAH EE2 Ui M
;000 * 10904 « 13 1,000
OXNsSEI A2F
0,0008 = 10&€ » 2004 600
02 22| 600 60
OXNsEI RANEH|
30,0002 ~ 108 » 204 600
202 o4 | 12,600 0
01 U401 bl 12,600 0
OXNHSEGLEFX 12,600,000 12,600
405 XHAHFEIEHI 1,640 A 10,960
01 XAt 2 E F S| 1,640 A 10,960
OIDXANEsEEZ2HI P2
1,040,0002 * 1CH 1,040
OFAX CHA = & 600,000& * 1CH 600
2= QI Al 422 11,411 215
ehate] 11,411 215
101 2121 4| 10,811 9, 815
04 JIZtHI22XNSES 10,811 9, 815
OMgH A4 2 2 oY oY 10,811
- = 54,600 * 1 = 180Y¥ 9,828
-ASIEE D28 9,828,000& * 10% 983
201 et 600 A 600
02 222l 600 600
OGMOA Hg=XxF 2 DIl KX E 4
100,000& = 6& 600
FANELXN(FRNERIEE 1,543,267 110,795
FEMP(RRES) 30,000 A 60,000
401 Al HI L £ 0HHI 30,000 A 30,000
01 Al& gl 30,000 30,000
OBEFINE RALDE=3A 30,000,000 30,000
FZAE 29 oyl 1,513,267 170,795
801 Ol 5l Hl 1,513,267 170,795
01 Btal bl bl 1,513,267 170,795
OFXNEELS A oldlt] 1,513,267,000& 1,513,267
S ABH (AL WS D) 34,379 N6, 168
AH (AL nE) 34,379 N6, 168
=&t 34,379 N6, 168
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2N
X ZH -
L= B

el

A4 nEn
WY 2LZH (FELEL)
J=23H(AEnsSn)

SA BB O () - MM - HES il
201 Le-2d| 26,479 26,247
01 At 22l 23,680 23,148
O e8| 5,400,000& 5,400
O= &l 7,560,000& 7,560
OHITHHALZE FHI 8,320
-2 ZeHII 3,000
- EY 300,000& = 1CH * 45 = 23| 2,400
== 300,000& = 104 = 23l 600
-2t elE 0| 200,000& = 1004 = 23l 4,000
-SSMINEW & E8)
200,000& = 104 = 33l 600
-FAX 120,000& = 208 = 33| 720
OXNESEM(SEEL) SAI iz
200,000& = 104 » 12& 2,400
02 =224l 2,799 3,099
OdEEH SXE=4l 2,799
-CHII S AFR D121 1,300,000& = 27CH * 5% 1,755
-ZElH ol 4,000,000& = 9O » 2% 720
-= AtJ| 15,000,000& * 1CH * 2% 300
—-FAX 600,000& * 2CH * 2% 24
202 odl 2,400 2,400
01 = LHA Yl 2,400 2,400
OAdnsn =& ol 2,400,000& 2,400
203 2R = b 4,200 4,200
04 EAN2IH 2= 4,200 4,200
ORAN2EIRFAHI 350,000& = 12& 4,200
405 XHoHE S HI 1,300 7,700
01 AL EFH S 1,300 7,700
OZFH 2 A 2 1,000,000& * 1CH 1,000
OZFH 2UH 2 300,000& = 1CH 300
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